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Answers

1. C

2. B

3. A

4. A

5. D

6. C

7. C

8. D

9. D

10. A

Determine which choice shows the expression used to solve the problem.

1) Amy was buying soap for her bathroom. She bought five packs with each pack having two bars.
How many bars of soap did she buy?

A. 5 + 2 B. 5 - 2 C. 5 × 2 D. 5 ÷ 2

2) Sam was playing basketball with his friend. Together they scored ten points. If Sam scored three
of the points. How many points did his friend score?

A. 10 + 3 B. 10 - 3 C. 10 × 3 D. 10 ÷ 3

3) George was buying books about astronomy. He bought six books about the planets and seven
about the space program. How many books did he buy total?

A. 6 + 7 B. 7 - 6 C. 6 × 7 D. 7 ÷ 6

4) For a potluck lunch Paige brought three bottles of soda. If someone else had already brought four
sodas, how many were there total?

A. 3 + 4 B. 4 - 3 C. 3 × 4 D. 4 ÷ 3

5) There are twelve students going on a field trip. If each school van can hold six students, how
many vans will they need?

A. 12 + 6 B. 12 - 6 C. 12 × 6 D. 12 ÷ 6

6) A contractor was buying wall outlets for a new house he was building. Each room needed five
outlets. If the house has four rooms, how many outlets does he need total?

A. 5 + 4 B. 5 - 4 C. 5 × 4 D. 5 ÷ 4

7) A delivery driver had to make nine more stops on his route. At each stop he had to drop off eight
boxes. How many boxes does he have?

A. 9 + 8 B. 9 - 8 C. 9 × 8 D. 9 ÷ 8

8) While playing basketball Team A scored sixty-three points. If each person scored seven points,
how many people were playing?

A. 63 + 7 B. 63 - 7 C. 63 × 7 D. 63 ÷ 7

9) John is helping to put away books. If he has eighteen books to put away and each shelf can hold
nine books how many shelves will he need?

A. 18 + 9 B. 18 - 9 C. 18 × 9 D. 18 ÷ 9

10) An architect was building his two story house. On the first floor the house had two bedrooms and
the second floor had three bedrooms. How many bedrooms does the house have total?

A. 2 + 3 B. 3 - 2 C. 2 × 3 D. 3 ÷ 2
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